
Soustraction Horizontale de Décimaux (F)

Calculez chaque différence.

239,861 − 59,07 = 234,08 − 132,5 =

97,132 − 5,83 = 56,99 − 28,706 =

794,9 − 5,9 = 708,95 − 2,281 =

788,49 − 88,11 = 49,708 − 4,69 =

59,297 − 3,915 = 895,7 − 34,3 =

46,9 − 5,64 = 49,554 − 35,67 =

283,29 − 82,949 = 8,04 − 3,001 =

916,21 − 2,766 = 483,303 − 2,5 =

53,494 − 3,53 = 306,7 − 3,5 =

607,046 − 8,04 = 392,1 − 2,1 =
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Soustraction Horizontale de Décimaux (F) Réponses

Calculez chaque différence.

239,861 − 59,07 = 180,791 234,08 − 132,5 = 101,58

97,132 − 5,83 = 91,302 56,99 − 28,706 = 28,284

794,9 − 5,9 = 789 708,95 − 2,281 = 706,669

788,49 − 88,11 = 700,38 49,708 − 4,69 = 45,018

59,297 − 3,915 = 55,382 895,7 − 34,3 = 861,4

46,9 − 5,64 = 41,26 49,554 − 35,67 = 13,884

283,29 − 82,949 = 200,341 8,04 − 3,001 = 5,039

916,21 − 2,766 = 913,444 483,303 − 2,5 = 480,803

53,494 − 3,53 = 49,964 306,7 − 3,5 = 303,2

607,046 − 8,04 = 599,006 392,1 − 2,1 = 390
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